BIFOLD ARMS ' ™ @
TRADING COMPANY ‘ AROI IN A o FoﬁAssemau}

(@ One pair of Bifold Arms .

'[’”f:...(f:'

Bolt Dowels Wood Button | | Stretcher Bracket Barrel Nuts Allen Key
M6x18mm 9 Q{;& % \
4 Pcs 8 Pcs 4 Pcs 8 Pcs 1Pc

STRETCHER
BRACKET

BOLT 18mm

ALLEN KEY

a) Insert the Bracket Cleat into the hole provided.
b}. Use 18 mm Bolt to attach Stretcher Bracket as shown.
IMPORTANT : Don't fully tighten Bracket until Stretchers are
all in place for easy alignement, -

(" BODY INSTRUCTIONS : Instructions for assembly of )

Arms to Bifold Body are in the Bifold Body box

AFTER TOTAL ASSEMBLY :
NOTE : insert Push fit or lightly tap
Wooden Dowels the wooden buttons
into the bolt holes
on the arms. %
Stréicher Rail ' — ’
fram BODY BOX —
Dowel from Ta . i
p dowel all the way into this
\__THISBOX hole before assembly to arm J

AV



BIFOLD ARMS See below for
preparation of arms

TRADING COMPANY DENVER TRAY II for assembly. .

@ One pair of bifold arms. )
[ A - hY [ I I Y
— 7 N 4 N
~> ~ ~
$ $ o .
3 M
INSIDE VIEW OUTSIDE VIEW
. @ Hardware in this box )
[ L [ il i @ l| .
M6x60mm Bolts M6x18mm Bolts Wood Button Stretcher brackets
8 pes 4 pes 8 pes 4 pes
= O
Allen key Dowels M6 Barrel nuts
1pe 4 pes 8 pes
@ Fasten stretcher brackets to arm. ) @ Fit wood button into arm holes. )
o / a) Tighten all Bolts -
Dowel Hole-/ /€ | :‘(E —

Stretcher bracket

.o
< : oo
) 18 mm Bolt

V M b) Fit Wood Buttons as shown
T

Allen Key% z Stratcher .

A. [nsert the stretcher bracket cleat into the hole provided

Hole for bolt—""1

s

AN

Hole for cleat

B. IMPORTANT : Don't fully tighten bracket until Led |
stretcher are allin place for easy alignment. .
C. Each arm requires two brackets, front and back.
AFTER TOTAL ASSEMBLY:

@ Fit wooden dowels. : )

BODY INSTRUCTIONS : instructions for assembly of Push fit or - Lt
arms to bifold Body are in the Bifold Body box lightly tap the \
Middle hole
wooden buttons
. ' into the bolt s N/ —
Stretcher rail from holes on the

Dowel Body box. : arms.

NOTE : Insert
Wooden Dowels

L -

Tap dowels all the way into )
the middle hole, at each end of streichers

@ Inﬁt_ions for body assembly, are packed in the BODY box Page t of 1 )

1



DONCO

TRADING COMPANY

BIFOLD ARM

DOMINIOUE ARM

See Bifold Body Box for
complete Assembly
Instruction

(o One pair of Bifold Arms

D)

1]

wo

.

(OFastening of Stretcher Bracket to the Arm

a) Insert the Bracket Cleat into the hole provided.

al] in place for easy alignement.

b). Use 18 mm Bolt to attach Stretcher Bracket as shown.

IMPORTANT : Don't fully tighten Bracket urml Stretchers are

BOLT 18mm

STRETCHER
BRACKET

ALLENKEY

™

HOLE FOR
BORE

@ Assemble the Bifold Body

)

(BODY INSTRUCTIONS :Instructions for assembly of
Arms to Bifofd Body are in the Bifold Body box

NOTE : Insert
Wooden Dowels

tretcher Rail
from BODY BOX

j

@ Fit wood Button Into Arm Holes

{ STRETCHER

a) Tighten all Bolts,

Wood
Button

LEG

b) Fit Wood Buttons

as shown.

f STRETCHER

LEG

| f
_l?::\;e Bg;‘ Tap dowel all the way into this
o . hole before assembly to arm
@Hardware in this box
Bolt Bolt Bolt Dowels
Méx1 OOm Méx50mm ‘Méx18mm
g (‘a;"\_j'aﬁg
4 Pcs 4 Pcs

Wocd Button

—

8 Pcs

Stretcher Bracket

Barrel Nuts

° &

8 Pcs

Allen Key

Comstructions for Body assembly,are packed in the Body box

CML /AT BR/ KN/ 01.03




D 0 N c 0 ASSEMBLY INSTRUCTIONS See below for

‘ ' BIFOLD ARMS preparation of arms
TRADING COMPANY FLORENCE ARM for assembly.

@ One pair of bifold arms. )

= ) ( \\

%[L

] . :
b
Outside View . | ] Inside View
@ ‘Hardware in this box ) @ Fit wooden dowels, )
R s D Middic hole

M6 x 100 mm Bolts M6 x 60 mam Bolts Dowels

4 pes 4 pes 4 pes
Dowcl/ Stretcher rail from .

@B [':mj . a Body box.
. Tap dowels all the way into

M6 Barrel nuts Mgp’::sls mm Bolts ] the middle hole, at cach end
8 pes ’ of stretchers.
|i " 6 @ Fit Wood Bracket into the Arm Hole )
© Allen key Stretcher brackets  Wood Button Only after the Arms and Body had been completely
1pe 4 pcs 4 pes assembled, fix the wood bracket into the Arms.

@ Fasten stretcher brackets to arm.

—

o
L-O
/
Dowel Hole __—" ©
B o Stretcher bracket
Hole for bolt -_//” S
Hole forcleat_— | - 18 mm Bolt
|

. ' Allen Key \/2 (@ Fit wood button into arm holes. )
; | | AFTER TOTAL ASSEMBLY: :
'+ A. Insert the stretcher bracket cleat into the hole provided
. B.IMPORTANT : Don't fully tighten bracket until Pas .
ash fit or lightly =t

H stretcher are allin place for easy alignment. (0 the woodon
C. Each arm requires two brackets, bulttons into the HHHI] 11|/
front and back. : S 1HnHHY
bolt holes on the

arms, ey 14
Cleat . ” Strecher T J

@ Instructions for body assembly, are packed in the BODY box Page 1 ol'l )




TRADING COMPANY

BIFOLD ARM

JULIANA ARM |

See Bifold Body Box for
complete Assembly
Instruction

@ One pair of Bifold Arms

\/

1 4

=3

ad a4

@Fastening of Stretcher Bracket to the Arm

a) Insert the Bracket Cleat into the hole provided.

b). Use 18 mm Bolt to attach Stretcher Bracket as shown,

IMPORTANT : Don't fully tighten Bracket until Stretchers are

all in place for easy alignement.

STRETCHER |
BRACKET

BOLT i8mm

ALLEN KEY

\\\ '

BORE

HOLE FOR |

o Assemble the Bifold Body ) _ @ Fit wood Button Into Arm Holes )
(BODYINS TRUCTIONS ‘Instructions for assambiy of N i K L
_Arms 1o Bifoid Body are In the Bifold Bod a) Tlghten all Bolts. b) Fit Wood Buttons
as shown.
oLT
{ £ / T_T:
NOTE : Insert STRETCHER i <) / STRETCHER >|][j
Wooden Dowels f :
Wood ‘
- Button
?li.{]"se gg;(n Tap dowel all the way into this o
\ . hole before assembly to arm / LEG
o .
QHardware in this box . |
Botlt Bolt Bolt Dowels Wood Button | | Stretcher Bracket Barrel Nuts | Allen Key
1 M6x100m M6x50mm Méx18mm \ % %
Yo
4 Pcs 4 Pcs 4 Pes 4 Pes 8 Pcs 4 Pcs 8 Pcs 1 Pe
romstructions for Body assembly,are packed in the Body box

)

CML/ AL/ BR S KN /0103



ONCO

TRADING COMPANY

)

ASSEMBLY INSTRUCTIONS
BIFOLD ARMS

LANDMARK ARM

See below for
preparation of arms
for assembly.

@ One pair of bifold arms.

D)

e e e — — e e o — - — = |

=

1= == =

bod 1= = .
.

— = ] e

i .
IO :
|| Inside View || || Outside View |
@ Hardware in this box ) @ Place decks between both arms. )
um _ Contrary to Assembly Instructions in the
Body box. You will need to join both the
Mé6x110mm M6x18mm Bolts M6 Barrel nuts Back deck.& Seat deck together, as shown,
Bolts 8 pes 4 pes 8 pes before fitting them between the Arms.

< =
AllenKeY stretcher brackets Wood Button  Dowels
pc 4 pcs 8 pes 4 pes

@ Fasten stretcher brackets to arm.

/

+*

/
Dowel Hole — |

Nb obdo

1

Stretcher
Hole for bolt — | Y § bracket
/% | ‘g, 18 mm Bolt

Hole for cleat %

Leg Allen Key
( A) Insert the stretcher bracket cleat into the

hole provided
¢B) IMPORTANT : Don't fully tighten
bracket until stretcher are allin place for

easy alignment.

Once the bifold body frame has
completely been assembled and all
bolts has been secured, attach

the wood button to the arm leg.

(C) Each arm requires two AFTER TOTAL ASSEMBLY:
brackets, front and black.
_ Place the
@ Fit wooden dowels. ) Mattress on — — ]
Tap dowels all the way into the Body Frame /

middle hole, at each of stretcher

o

Middle hole slulziziziuizlsials
L - DI I I B I
L M~ 1 e | [ ]

.E - m | e . 1

e ol
a Stretcher rail from | -
Dowel Body box. .
@ Instructions for body assembly, are packed in the BODY box Page 1 of 1 )




_ BIFOLD ARMS preparation of arms

. MANGO ARM for assembly.
@ One pair of bifold arms. )
I |
: : i : i 1 ] il
! ' + | HHAE
Outside View - Inside View —
@ Hardware in this box ) @ Place decks between both arms. )

ﬂ:m % Contrary to Assembly Instructions in the

Body box. You will need to join both the

Back deck & Seat deck together, as shown
1 Bolts M6B ’ i
gﬁ:sl;opg;m Méx 48;,]::1 0 sa;:‘;l nuts before fitting them between the Arms,
Once the bifold body frame has

completely been assembled and all
@ = bolts has been secured, attach

the wood button to the arm leg.

Allen key  Stretcher brackets Wood Button Dowels
1pe 4 pes 8 pes 4 pes

@ Fasten stretcher brackets to arm.

T

Stretcher

Dowel Hole — |

b obo

/
Hole for bolt — |

i § bracket
18 mm Bolt
Hole for cleat %/ \

~

Leg  AllenKey %

(A) Insert the stretcher bracket cleat into the

.. hole provided

(B) IMPORTANT : Don't fully tighten
bracket until stretcher are allin place for
easy alignment.

(C) Each arm requires two

brackets, front and black. A¥TER TOTAL ASSEMBLY:
@ Fit wooden dowels. ' ) Place the |
Tap dowels all the way into the Mattress on
middle hole, at each of stretcher Body Frame

Middle hole

(1)
pmfiegv——
P —
——
T
pooT——
o —

Stretcher rail from . ]
Body box. ‘

Dowel :
@ Instructions for body assembly, are packed in the BODY box Page 1 of 1 )




DONCO

TRADING COMPANY

ASSEMBLY INSTRUCTIONS
BIFOLD ARMS

NAPLES ARM

- e %
See below for
preparation of arms
for assembly.

@ One pair of bifold arms.

% i
} § H
|| Inside View L

Qutside View —

@ Hardware in this box

) @ Place decks between both arms.

-'I||||| e \\r\\wmHmuwmmm'.
Lol b s

= &g

Méx80mm Bolts M6x18mm Bolts

M6 Barrel nuts
8 pcs 4 pcs 8 pes
< .
Alllen ckey Stretcher brackets Wgod Button Dowels
d 4 pes 8 pes 4 pes
@ Fasten stretcher brackets to arm. - )
o /
¥l
L .
Dowel Hole — | o
W Stretcher
—1 L bracket
Hole for bolt .
18 mm Bolt
Hole for cleat SN %
Leg Allen Key

( A) Insert the stretcher bracket cleat into the
hole provided
(-B) IMPORTANT : Don't fully tighten
bracket until stretcher are allin place for
easy alignment.
~ (C) Each arm requires two

Contrary to Assembly Instructions in the -
Body box. You will need to join both the
Back deck & Seat deck together, as shown,
before fitting them between the Arms.
Once the bifold body frame has

completely been assembled and all

bolts has been secured, attach

the wood button to the arm leg.

AFTER TOTAL ASSEMBLY:

brackets, front and black.

Place the
(@ Fit wooden dowels. ) Mattress on
Tap dowels all the way into the Body Frame

middle hole, at each of stretcher

Middle hole

Stretcher rail frem

Dowel Body box.

il

X2

7}

@ Instructions for body assembly, are-packed in the BODY box

Page1of 1 D

S

+




3+

MM ORIENT

el 5
10
e

Inside View Qutside View

Bolt Bolt Bolt Dowels Wood Button Stretcher Bracket Barrel Nuts

= &

8 Pcs 4 pcs 8 Pcs

STRETCHER
ERACKET

a) Tighten all Bolts.

80LT 18mm

Wood
Button

—

HOLE FOR
BORE

ALLEM KEY

b) Fit Wood Buttons as shown.

a) Insert the Bracket Cleat into the hole provided.

b). Use 18 mm Bolt to attach Stretcher Bracket as shown.
IMPORTANT : Don't fully tighten Bracket until Stretchers are
all in place for easy alignement.

/BODY INSTRUCTIONS : Instructions for assembly of \

Arms to Bifold Body are in the Bifold Body box AFTER TOTAL ASSEMBLY :
NOTE : insert Push fit or lightly tap
Wooden Dowels the wooden buttons . "
into the bolt holes ] ~/
on the arms. E 11
Stratcher Rail _-.._. 1 H .-.
from BODY BOX i fr \‘:C} '
D°Wse' g’m Tap dowel all the way into this ‘
L THIS BOX hole before assembly to arm J ‘ - —

KN/ BR 110. 03



BIFOLD ARMS See Bifold Body Box for
complete Assembly
st PRINCETON | 5

(o One pair of Bifold Arms

=
- | ) a i | | ,_ ] L] a | 1| & 1 3
-« -] & -
' 2
(@ Hardware in this box AR )
Bolt Bolt Dowels Wood Button | | Stretcher Bracket | | Barrel Nuts _ Allen Key

Mé6x120mm M6xI8mm

[ ‘&w

N

4 Pcs 4 Pcs

U | @

4 Pcs 8 Pcs

STRETCHER:
BRACKET <

BOLT 18mm

ALLENKEY

HOLE FOR
BORE

(@ Assembie the Bifold Body B

("BODY INSTRUCTIONS : instructions for sssembyof )
Arms to Bifold Body are in the Bifold Body box

NOTE : insert
Wooden Dowels

wooden buttons into the bolt

Stretcher Rail ’
. from BODY BOX
a) Insert the Bracket Cleal into the hole provided. Dowet from . .
b). Use 18 mm Bolt fo altach Stretcher Bracket as shown. | THIS BOX Tap dowel all the way into this )
IMPORTANT : Don't fully tighten Bracket until Stretchers are \ hoie before assembly to arm
allin place for easy alignement.
@sse’mble'the Wood Bifold Body - )
| AFTERTOTAL |
SPECIAL NOTE : Arm ASSEMBLY : !
Assembly. Push fit or lightly tap the ll
|

CLEVIS FIN

Contrary to Assembly Instructions in the body box, you'll need lo assemble both E
the Backdeck and the seatdeck logether, as shown, before fitting them between the
arms. If the two decks aren't assemled together in this way you will find it difficult to

connect them with the Clevis Pin later.

This Instruction show different
Arm assembly. Procedure is the
same for Sleigh f Mag Arm.

holes on the arms,

@ Instructions for Body assembly, are packed in the Body box




BIFOLD ARMS
SHOGUN ARM

DONCO|

TRADING COMPANY

ASSEMBLY INSTRUCTIONS

See below for

preparation of arms

for assembly.

@ One pair of bifold arms.

T il i i
Inside View Qutside View .

Hardware in this box

) (® Place decks between both arms.

)

M6x18mm Bolts
4 pcs

&

M6 Barrel nuts
8 pes

M6 x 100mm
Bolts 8 pcs

Body box. You will need to joi

Contrary to Assembly lnstruc:lons in the

Back deck & Seat deck together, as shown,
before fitting them ‘between thel Arms.
Once the bifold body frame hasl
completely been assembled and
boits has been secured, attach

both the

all

Allen key Stretcher brackets Wood Button  Dowels
1pe 4 pes 8pes 4 pes

@ Fasten stretcher brackets to arm.

o /
= .
/
Dowel Hole — °
| o Stretcher
|1 R
Hole for bolt — 1 }* § bracket
SN 18 mm Bolt

Hole for cleat

L€ Allen Key %

( A) Insert the stretcher bracket cleat into the

~  hole provided
(B) IMPORTANT : Don't fully tighten
bracket until stretcher are allin place for

easy alignment.
(C) Each arm requires two

brackets, front and black.
@ Fit wooden dowels.

Tap dowels all the way into the
mlddle hole, at each of stretcher

Middle hole

Stretcher rail from

Dowel Body box.

AFTER TOTAL ASSEMBLY:

the wood button to the arm leg.

Place the
Mattress on
Body Frames

e,

Pagelofl

(@ Instructions for body assembly, are packed in the BODY box




BIFOLD ARMS

DONCO SOUTH BEACH

. SEE BELOW FOR
" PREPARATION OF ARMS
. FOR ASSEMBLY.

(@ one pair of Bifold Arms -

@PHardwareinthisbox T )
Bolt . Bolt Bolt Dowels || Wood Bulton | Stretcher Bracket §| Bamrel Nuts || Allen Key
M6x130m Mé.\ﬁ(}mm - M6x18mm @ é:
8 Pes 4 Pes 8 Pcs | Pc
(@ Fit wood Buttori Into Arm Holes )
STRETCHER a) Tighten ali Bolts. — - /BDLT
BRACKE‘I‘ ey o
BOLT 1Brnrn - /
Wood
~ HOLE FOR

ALLEM KEY BORE

a) Insert the Bracket Cleat into the hale provided.

b). Use 18 mm Balt to attach Streicher Bracket as shown.
IMPORTANT : Don't fully tighten Bracket untit Stretchers are
2kl in place for easy alignement.

b} Fit Wood Buttons as shown.

- "‘V/.V: > I
p

STRETCHER

(@ Assemble the Bifold Body . .

LEG

GODY INSTRUCTIONS ' instructions for assembly of
Arms to Bifcld Body are in the Bifold Body box

NOTE : insert

Wooden Dowels

o)

%&mﬁm Rail
- from BODY BOX

Tap dowel all the way into this
hole before assembly 1o arm

Dowel from

k THIS BOX

\

AFTER TOTAL ASSEMBLY :

Push fit or lightly tap
the wooden buttons
into the bolt holes
on the arms.

Buttor

;un

(o !nstructrons for Body assembly,are packed in'the Body box

CML /ALY

KN/BR/03.03




| TRADING COMPANY

BIFOLD ARMS

complete Assembly
Instruction

See Bifold Body Box for

@"Oneﬁpaif of Bifold Arms fe

S YERSIDEN -

- 5 ¥ a1 1 . . - @ F-3
. @ : 5
;—'——"'_”"'- '—-‘——\—._,_.,___“_ "—h—‘"*——u
(o HardW&‘?e in .this.box' LR ER T '. )
-
" Bolt Bolt Dowels Wood Button | |Stretcher Bracket | | Barrel Nuts Allen Key
M6x80mm M6x18mm ' %
(&) 8 Pes 4 Pes 4 Pcs 8 Pcs 4 Pcs 8 Pcs 1 Pe
Co Fasten Stretcher Bracket to-Arm ) @Ass_emlqle the Bifold Body - )
STRETCHER BODY INSTRUCTIONS : instructions for assembly of N
BRACKET Arms to Bifold Body are in the Bifold Body box
BOLT i8mm NOTE : Insert

.

ALLEM KEY

a} Insert the Bracket Cleat into the hole provided.

b). Use 18 mm Bolt to attach Stretcher Brackel as shown,
IMPORTANT : Don't fudly tighten Bracket until Stretchars are
all in place for easy alignement.

HOLEFOR
BoRe

K THiS BOX

Waooden Dowels

Stretcher Rail .
frem BODY BOX :

Dowel from " Tap dowel all the way into this

hole before assembly to arm

T
t

(@ Assemble the Wood Bifold Body .

CLEVISPiN

Contrary fo Assembly Instructions in the body box, you'll need to assemble both
the Backdeck and the seatdeck logether, as shown, before fitting them between the *
arms, if the two decks aren't assemled together in this way you will find it difficult to

connect them with the Clevis Pin {ater.

SPECIAL NOTE : Arm

Assembly.
This Instruction show different
Arm assembly. Procedure is the
same for Sleigh f Mag Arm.

ki
T
|

- ——

AFTER TOTAL
ASSEMBLY :

!
|
|
Push fit or lightly tap the :
|
|
i

— e o —

wooden buttons into the bolt
holes on the arms.

|
i
[
|
I
|

—_———— —

/

[

. Co Instructions for Body assembly,are packed in the Body box

D)



: i -
ot - o
I i - - Yo

] o
W 5 .
Yo i ¢ '
[ o t ! m
ioam e Rl
P T e i
; - I i .
: } t a
i
!
‘ .
3 e
m e .
Lo —
i) -
T
e 2
H o
! -
! T
i : =
i i it
! | =
[ w =
!
i ¢
1
1
W f.l
!
{
i ] -~
% o - .
‘
' =L
i
i
i . i .
_ i o e
R e = ‘
L <} o,
- = w0
il Tx Cob b
D et
Ea 4
. R
o F T
= e O
! 7. =R
! < =
i - =l
job] N
- e
s i
| by
H el
Ml
st
W - I
£ 5 2 :
. L i)
) :
- o
e -
; =
4 .
i
; —
. 4 - .



See below for
ASSEMBLY BIFOLD ARMS :
INSTRUCTIONS M ON ET ARM preparation of arms

for assembly.

@ One pair of bifold arms. )

/ N

= )

*e

4 4\

k
(

Inside View Outside View

@ Hardware in this box j
e [ = :

M6 x 60 mm Bolts M6 x 18 mm Bolts Wood Button
8 pes 4 pes 8 pes
Allen key Stretcher brackets Dowels M6 Barrel nuts
1 pe * 4pes 4 pes 8 pes
@ Fasten stretcher brackets to arm. j @ Assemble the Bifold Body. )

BODY INSTRUCTION: Instruction for assembly of
arms to the Wood Bifold Body are in the Body Box.
Middle hole

Stretcher bracket

Dowel Hole — |

Stretcher rail from
Dowel Body box.

HoIé for bolt—"
Hole for cleat / 8 mm Bolt Tap dowels all the way into this
© hole before assembly to arm.

Leg ‘
Allen Ke
Y V @ Fit wood button into arm holes. )

\ Nb obo

A, Insert the stretcher bracket cleat into the hole provided AFTER TOTAL ASSEMBLY:
B. IMPORTANT : Don't fully tighten bracket until
stretcher are all in place for easy alignment. Push fit or
C. Each arm requires two brackets lichtlv tap the
front and bag(. . , shity tap /

wooden buttons
into thebolt — Y

holes on the SO
Cleat ” Stretcher Bracket arms.

@ Instructions for body assembly, are packed in the BODY box Page 1 of 1 )

[




See below for
ASSEMBLY BIFOLD ARMS preparation of arms

INSTRUCTIONS | TIMBERLAND ARM for assembly.

@ One pair of bifold arms. )

—

* 0 0%
+=0 0%
L]

Inside View Outside View
@ Hardware in this box )
[ (> = :
M6 x 60 mm Bolts M6 x 18 mm Bolts Wood Button
8 pes 4 pes 8 pes
Allen key Stretcher brackets Dowels M6 Barrel nuts
1 pe * 4pes 4 pes 8 pes
@ Fasten stretcher brackets to arm, ) @ Assemble the Bifold Body. )
BODY INSTRUCTION: Instruction for assembly of
/ arms to the Wood Bifold Body are in the Body Box.
o .
| P Middle hole
Dowel Hole — | ©
B o Stretcher bracket
Hole for bolt—" }* Stretcher rail from
Dowel Body box.

"o 18 mm Bolt . .
/ / R, Tap dowels all the way into this
Hole for cleat hole before assembly to arm.

Leg”
All K i
en Key % @ Fit wood button into arm holes. )

AFTER TOTAL ASSEMBLY: m

A. Insert the stretcher bracket cleat into the hole provided
B. IMPORTANT : Don't fully tighten bracket until
stretcher are all in place for easy alignment. Push fit or = 4

C. Each arm requires two brackets, lightly tap the
front and bac ,

wooden buttons /
into the bolt —

holes on the
Cleat || Stretcher Bracket arms,

@ Instructions for body assembly, are packed in the BODY box Page 1 of 1 )




ASSEMBLY
INSTRUCTIONS

BIFOLD ARMS
MONTI ARM

See below for
preparation of arms
for assembly.

@ One pair of bifold arms.

«0 o900

Inside View

i.lﬂ

Outside View

(@ Hardware in this box

—

M6 x 100 mm Bolts

4 pes

ﬁ Allen key

1 pe

VTP IR Ty ey
Nt ]

T RIE g Y
“-llllll.ll.lnl‘.lhlllnli|ln.

M6 x 60 mm Bolts
4 pcs

J’ Stretcher brackets

: 4 pes

(o = :

M6 x 18 mm Bolts  Wood Button

4 pes 8 pes
= o I
Dowels M6 Barrel nuts
4 pes 8 pes

@ Fasten stretcher brackets to arm,

) @ Assemble the Bifold Body.

D

Dowel Hole — |

Hole for bolt—""]

7

Leg

Hole for cleat

A. Insert the stretcher

/

Stretcher bracket

\ Nb obo

e, |8 mm Bolt

Allen Key %

bracket cleat into the hole provided

B. IMPORTANT : Don't fully tighten bracket until
stretcher are all in place for easy alignment.
C. Each arm requires two brackets,

front and back.

BODY INSTRUCTION: Instruction for assembly ol
arms to the Wood Bifold Body are in the Body Box.

Middle hole

Stretcher rail from
Dowel Body box.

Tap dowels all the way into this
hole before assembly to arm.

)

@ Fit wood button into arm holes.
AFTER TOTAL ASSEMBLY:

Push fit or
lightly tap the < e 5

wooden buttons E //

into the bolt

Cleat ||;_—_l holes on the — ¥7 N
Stretcher Bracket arms.
@ Instructions for body assembly, are packed in the BODY box Page 1 of 1 )




